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- 1. Who is known as the 'Father of the Indian Constitution' ?
(1) Mahatma Gandhi
(2) Jawaharlal Nehru
(3) Sardar Vallabhbhai Patel

(4) Bhim Rao Ambedkar

2. Which Indian state(s) is/are famous for the 'Kaziranga National Park', home to the one-horned

rhinoceros ?
(1) Uttarakhand ' (2) Assam

(3) UP- Haryana (4) Rajasthan

3. The 'Quit India Movement' was launched in which year ?
(1) 1930 (2) 1945

(3) 1947 . 4) 1942

4. Who is said to have invented the light bulb ?
(1) Alexander Graham Bell
(2) Marie Curie
(3) Thomas Alva Edison

(4) Nikola Tesla

5.  The Gobi Desert is located in which continent ?
(1) Africa _ (2) North America

(3) Asia ' (4) South America
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7.

10.

11,

The "Davis Cap® i aasoviated with which of these followlng sporte?
(1 Football (2) Crivket

(M Nockey ¢ Tennln

The headquarters of the Reserve Dank of Tndin v located In ¢
(1) New Delhi (M) Kolkata

(1) Mumbal () Chandigarh

The National Anthem of Indla, "Jann Gana Mana", waw orlginally componed In which

language ?
(1) Hindi (2) Dengali

() Sanskrit (1) Tamll

Who wrote the famous book 'Discovery of India' ?
(1) Mahatma Gandhi

(2) Rabindranath Tagore .

() Jawaharlal Nehru

(1) Sardar Patel

Which country s said 1o be the largest democracy in the world ?

(1) USA (2) Chinn (3) Rusaln (4) Indin

Find the missing number in the series ;
2,510,17,737

(1 24 (?) 26 (3) 28 () 30
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13,

14,

15,

16.
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Ina certaln codo langunge, 'PALE' Is coded ns ‘2134 and "EARTII is coded as '41590", IMow is
"PEARL! coded In that longuage 7 !

(1) 24153 (2) 25413
(3) 29413 (4) 24513
I'Ind the odd one out ;

(1) Lion (2) Tiger

(3) Woll (4) Elephant

1[ toduy Is Monday, what day will it be 61 days from now ?

(1) Suturdny (2) Sunday

(3) Monday (4) Tucsday

A Iy the father of B, C is the daughter of B, D is the brother of B. E is the son of A, What is the
relutionship between C and D 7

(1) Nephew (2) Aunt

(3) Nicce (4) Cousin

Arrange the following words in a meaningful sequence :
I Study II. Job
111, ‘Test/Examination

V. Resull

1V. Application

() LuLv, v, n @) Liv, L v, 1

& L, v @ 1v, L1, v, 1

P.T.O.



17.

18.

19.

20.

21.
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In a row of students, A is 12th from the left and B is 16th from the right. If they imerchang:
their positions, A becomes 20th from the left. What is the total number of students in the row ?

1) 34 ) 37 (3) 36 "4 35
Select the related word from the given alternatives :

Book: Author :: Food: ?

(1) Utensils (2) Chef

(3) Hunger (4) Restaurant

Find the missing number in the series :

3,:7, 15,31, 2, 127

(1) 60 2) 61 3) 63 (4) 65

Pointing to 2 man, a woman said, "His mother is the only daughter of my mother.' How is the

woman related to the man ?
(1) Mother (2) Sister

(3) Aunt (4) Grandmother

Which planet is known as the "Red Planet" ?
(1) Venus (2) Mars

(3) Jupiter (4) Saturn

Which gas do plants primarily absorb from the atmosphere for photosynthesis ?
(1) Oxygen (2) Nitrogen

(3) Carbon Dioxide (4) Hydrogen

A 5

23. Joule is the SI unit of which of the following ?
(1) Quality of jewellery (2) Resistance
(3) Power (4) Work done

24. Which of the following is a renewable source of energy ?
(1) Coal (2) Natural Gas
(3) Solar Energy (4) Petroleum

25. Graphite and diamond are ............ :
(1) Isomers (2) Isobars
(3) Isotopes (4) Allotropes

26. Deficiency of Vitamin D causes which disease ?
(1) Scurvy (2) Rickets
(3) Night Blindness (4) Beriberi

27. Which force is believed to keep planets in orbit around the Sun ?
(1) Electromagnetic force (2) Nuclear force
(3) Gravitational force (4) Frictional force

2B8. Which of the following is an example of a noble gas ?
(1) Oxygen (2) Nitrogen
(3) Carbon (4) Neon
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30.

31.

32.

33.

34.

35.

Which gas is emitted as a result of a plant's respiration ?
(1) Oxygen

(3) Carbon dioxide (4) Nitrogen

(2) Greenhouse gases

The phenomenon of light bending as it passes from onc medium to another is called:

(1) Reflection (2) Refraction

(3) Diffraction (4) Dispersion

What is the sum of the first 21 whole numbers ?

(1) 229 (2) 230 (3) 210

Which of the following is a prime number ?

(1) 87 (2) 91 (3) 97

For two distinct natural numbers, which of the following is frue ?

(1) Their HCF and LCM can be the same.
(2) Their HCF is always less than their LCM.
(3) Their HCF is always more than their LCM.

(4) None of the above may hold.

(4) 231

(4) All arc prime

The product of two numbers is 2028, and their HCF is 13. What is their LCM ?

(1) 156 (2) 13 (3) 2028

Simplify :
0.005 + (- 0.5) + 0.05

(2) -0.505 (3) -0.105

(1) —0.445
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(4) 26364

(4) -0.65

36.

a7.

38.

39.

40.

41,

42,

What is 1,125 expressed as a common fraction 7

(1 1/4 . 2) 1/8 (3) 3/16
Calculate :
0.25 x 0,04
(1) 0.010 (2) 0.100 (3) lL.o10

Which of the following is the smallest decimal fraction ?

(1) 0.111 (2) 0.101 (3) 0.100

Convert 5/8 to a decimal,

(1) 0.625 () 0.525 (3) 0.825

Calculate :
15x8+4+6-3

(1) 33 (2) 36 3) 29

Calculate :
172+ 1/3-1/6

M 12 @) 253 (3) 5/6

Simplify :
3x(4+5)-6/2

(1) 24 () 30 (3) 27

UG-4Yr.-EE-Junc, 2025/(BCA)(SET-Y)/(A)

(4) 9/8

(4) 0.001

(@) 0.011

(4) 0.725

“4) 27

4) 173

@) 15
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46.

47.

48.

49,

50.

Find the value of square root of (0.0009).

(1) 0.030 (2) 0.081
(3) 0300 (d4) 0.0003

If (X - 1) = 195, then X'is :

(1) 196 () 4 (3) 56 @) 14
The average of the first fifty whole numbers is :

(1) 24 Q) 25 (3) 24.5 (4) 1225
The average of 10, 8, X'and 20 is 7. What is the value of X' ?

1) 10 @ -10 @) 7 4 23

The average of 7 numbers is 30. If the average of the first three numbers is 25 and the average

of the next three numbers is 35. What is the last number ?

(1) 30 @ 20 @) 40 @) 25
The sum of X'and Y is 25 and their difference is 13. Find X' and Y.
(1) 19,6 @) 20,5 @) 18,7 @) 21,4
Four-fifths of a number is —20. What is the number ? =

@) =25 @) 25 @ 16

(1) -16

The present age of a father is three times the present age of his son. After 10 years the father's
age will be twice the son's age. What is the present age of the father?

(1) 20 years (2) 50 years (3) 40 years (4) 30 years
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52,

53.

54,

55.

56.

57.

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(A)

Rahul is 5 years older than Rohan. If the sum of their ages is 35 years. Wha is Rahul's age ?

(1) 15 years (2) 20 years

(3) 25 years (4) 30 years

Express 145% as a fraction,

(1) 29/20 () 14/15 (3) 40/45 (4) 45/40
1 40 percent of a number is 57.2, then what is the number ?

(1) 114.4 () 134 (3) 1444 (4) 143

A student obtains 135 with a percentage of 75. What is the maximum marks ?

(1) 175 (2) 180 3) 170 4) 165
If a seller increases selling price of a shirt by 10% of its base selling price Rs. 800 and offers a

rebate of 10%. The new selling price will be :
(1) Rs.800 (2) Rs.792

(3) Rs.880 (4) Rs.808

If an item is sold for Rs. 455 at a loss of 9%. What was its cost price ?
(1) Rs. 400 (2) Rs. 495

(3) Rs. 500 (4) Rs. 550

IfA:B=3:4andB:C=8:9,thenA:Cis:

1 1:2 2) 2:3 (3) 3:2 4) 4:3

P.T.O.
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58.

58.

60.

61.

62.
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'A can do a piece of work in 10 days and 'B' can do it in 15 days. In how many days can

A A

and 'B’ together complete the work ?

(1) 75 days (2) 12.5 days

(3) 12 days (4) 6days

A 100 meters long train is moving at a speed of 72 km/hr. How long will it take lo cross a .
pole ?

(1) 5 seconds (2) 10 seconds

(3) 15 seconds (4) 20 seconds

The difference between simple and compound interest (annually compounded) on a sum of

65.
Rs. 2,000 for 2 years at 5% per annum is :
(1) Rs.5 (2) Rs. 10
(3) Rs.20 (4) Rs.50
The ......... identifies a resource on the internet, such as a web page.
66.
(1) HTTP (2) UUTP
(3) URL (4) HTML
Which of the following is a popular search engine ? =
(1) Chrome (2) Firefox
(3) MS Word (4) Google

(1) Commercial organization
(2) Company website
(3) Community website

(4) Communication protocol

63. In a typical web address "www.example.com", what does the "com" indicate ?

What is a "bookmark" in a web browser used for 7

(1) To save a page for offline reading

(2) To mark a page for quick access
(3) To print a page

(4) To share a page on social media

What is phishing ?

(1) A type of online game

(2) An attempt 1o acquire sensitive informaliop by disguising as a trustworthy entity

(3) A method to speed up internet connection

(4) A technique to create websites

Which of the following is a network security device (hardware or software) ?

(1) Router

(3) Firewall

The full form of Wi-Fi is :
(1) Wireless Fidelity

(3) Wireless Filter

UG-4Yr.-EE-June, 2025I(BCA)(SET-Y)/(A)

(2) Switch

(4) Modem

(2) Wired Fibre

(4) Web-based Filter
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68. Which of the following fields specify the email recipient(s) ? 73. Which one of the following is not an operating system ?
(1) To (2) Cc (1) Windows (2) Android
(3) Bec (4) All of the above (3) Linux (4) MS Office

69. In which lab did Timothy Bemners Lee, the person behind HTTP work ? 74.  Which of the following allows to adjust the date and time of your computer ?
(1) DRDO (2) ISRO (1) File Explorer (2) Task Manager
(3) AT&TLab (4) CERN (3) Control Panel (4) Taskbar

70. What is "Spam" in the context of email ? 75. What does 'Drafi' mean in email services ?
(1) Important official emails (1) An email that has been sent

(2) Unsolicited emails, often advertisements or scams @ A -receiv ed spam email

(3) Emails with large attachments (3) A deleted spam email

. lf N
(4),, Bl gentio youse (4) An email saved but not yet sent

i forms calculations and logical operations ?
R Read the following passage carefully and answer the questions no. (76-77) ;

. 2) RAM +ROM
(1) Monitor + Keyboard ( The history of coffee is as rich and complex as its flavour. Originating in the ancient coffee forests of

(3) CPU (4) Calculator app Ethiopia, the legend says that goat herders first noticed the stimulating effects of the coffee plant

when their goats became energetic after eating its berries. From Ethiopia, coffee travelled to the

In normal setup of Windows, the area at the bottom of the screen that shows open applications

72. Arabian Peninsula, where it was first cultivated in Yemen. By the 15th century, coffee was being

is called : grown in the Yemeni district of Arabia and by the 16th century, it was known in Persia, Egypt, Syria,
and Turkey." Coffee was not just a drink but played an important role in social life. Coffee houses,
(1) Task Manager (2) Desktop ! =y P

known as gahveh khaneh, became centres for the exchange of information and for socializing.

: Panel
(3) Taskbar (4) Control Pane

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(A) e
-Y)/(A)
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Coffee reached Europe in the 17th century,

referred to as "the bitter invention of Satan." However, Pope Cle e
e )

approved it, and coffee soon became widely accepted. It became a popular

morning beers and wines, and contributed to increased sobriety

houses in Europe opened in Venice in 1645. From Europe, coffee cu

Indies

(Indonesia) and then to the Americas. Today, coffee is 0

beverages, consumed globally in various forms.

76.

78.

Where is coffee believed to have originated ?

(1) Arabian Peninsula (2) Turkey

(3) Yemen (4) Ethiopia

¢ . Lh
What did goat herders reportedly observe about their goats afier eating coffee berries

(1) They became sleepy.
(2) They became aggressive.
(3) They refused to eat other plants.

(4) They became energetic.

Arrange the following sentences to form a coherent paragraph.
(A) She had no idea where to go or what to do.

(B) After losing her way in the dense forest, a young girl felt lost.
(C) Suddenly, she spotted a small, flickering light in the distance.

(D) Hope surged through her as she cautiously moved towards it.

(1) ABCD (2) BACD

(3) BCAD (4) ADCB

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(A)
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79. Armange the following sentences to form a coherent paragraph.

80.

(A) These tiny creatures play a crucial role in our ecosystem.
(B) Bees are fascinating insects known for producing honey.
(C) They are also vital for pollinating many plants and crops.

(D) Without them, much of our food supply would be at risk.

(1) BACD (2) ADCB

(3) BCAD (4) CADB

Arrange the following sentences to form a coherent paragraph.

(A) The internet has revolutionized communication.

(B) Itallows people to connect across vast distances instantly.

(C) However, it also presents challenges like cyberbullying and misinformation.
(D) Therefore, responsible usage is paramount

(1) ABCD (2) ACBD

(3) BADC (4) CDBA

Directions (Q. 81-83): Choose the most appropriate sentence to complete the paragraph -

81.

JG-4¥r.-EE-June, 2025/(BCA)(SET-Y)/(A)

The rise of artificial intelligence has sparked a lot of debate. Some fear that Al could
eventually replace human jobs, leading to widespread unemployment. Others argue that Al
will create new types of jobs and enhance human productivity ................ .

(1) Alis already used in self-driving cars.
(2) This ongoing discussion highlights the complex implications of technological advancement.
(3) Robots are becoming more common in factories.

(4) Many people still prefer human interaction.

P.T.O.
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82.

83.

ntal health. Regular physical

Exercise is crucial for maintaining good physical and mc
’ d boost ener
activity can reduce the risk of chronic diseases, improve mood, an gy

; : inablc habit.
It's important to find activities that you enjoy (0 make it a sustaina

(1) Many people prefer indoor gyms.

(2) It also helps in weight management and strengthens bones.
(3) Eating healthy is also important for health.

(4) Some sports require special equipment.

Climate change is a pressing global issue. Rising global temperatures are leading to melting

glaciers, rising sea levels, and more frequent extreme weather events. .......... Immediate and
collective action is needed to mitigate its effects.

(1) Weather forecasting has improved significantly.

(2) This phenomenon is largely attributed to human activities like burning fossil fuels.

(3) Renewable energy sources are becoming cheaper.

(4) Many countries are developing new technologies.

Directions (Q. 84-85): Choose the word closest in meaning fo the given word (Synonym).

84.

Abundant :
(1) Scarce (2) Limited
(3) Rare (4) Plentiful

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(A)
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A
85. Vigorous :
(1) Weak (2) Energetic
(3) Slow (4) Lethargic

Directions (Q. 86-87): Choose the word opposite in meaning to the given word (Antonym),

86. Ancient :
(1) oid (2) Historic
(3) Past (4) Modern
87. Optimist :
(1) Idealist (2) Realist
(3) Pessimist (4) Dreamer
88. Choose the correctly spelled word.
(1) Recieve (2) Receive
(3) Recieve (4) Recive
89. Choose the correctly spelled word.,
(1) Occassion (2) Occasion
(3) Ocassion (4) Ocasione
90. Choose the correctly spelled word.
(1) Vaccum (2) Vacuum
(3) Vaccuum (4) Vaccumm

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(A)
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91.

92.

93.

94,

Choose the most appropriate one-word substitute for the given phrase.
A person who loves books.
(1) Philanthropist (2) Bibliophile

(3) Cartographer (4) Bookphobic

Choose the most appropriate one-word substitute for the given phrase.
One who knows many languages.
(1) Monolingual (2) Bilingual

(3) Polyglot (4) Linguist

Change the voice (Active-Passive): "She writes a letter.”
(1) A letter is written by her.

(2) A letter was written by her.

(3) A letter has been written by her.

(4) A letter is being written by her.

- Change the voice (Active-Passive): "The ball was hit by the boy."
(1) The ball hit the boy.

(2) The boy hit the ball.

(3) The boy was hitting the ball.

(4) The ball has hit the boy.

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(A)

95.

96.

97.

Change the voice (Acﬁve-Passivc): "They are building a new house."
(1) A new house is byj] by them,
(2) A new house was built by them,

(3) A new house js being built by themi.

(4) A new house has been built by them.

Change the voice (Active-Passive): "The decision will be made by the committee.”

(1) The committee will make the decision.
(2) The committee made the decision.
(3) The decision was made by the committee.

(4) The decision is made by the committee.

Change the speech (Direct-Indirect): "He said, 'l am going to school. "
(1) He said that I was going to school.

(2) He said that he is going to school.

(3) He said that he was going to school.

(4) He said that he had gone to school.

Change the speech (Direct-Indirect): "She asked me if I could help her."
(1) She said to me, "Can you help me?"

(2) She said to me, "You can help me."

(3) She asked me, "Could you help her?"

(4) She asked me, "Can I help you?"

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(A)
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99. Change the speech (Direct-Indirect), choose the most appropriate: "He said to me,
'‘Don't go there:"
(1) He told me not to go there,
(2) He asked me not to go there,
(3) He ordered me not to go there,

(4) He forbade me to go there,

100. Change the speech (Direct-Indirect): "She exclaimed with joy that she had

won the prize."

(1) She said, "I have won the prize!"
(2) She said, "I won the prize!"

(3) She said, "I had won the prize!"

(4) She said, "Hurrah! I have won tfi prize!" .

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(A)
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1. Which part of the computer performs calculations and logical operations ?

(1) Monitor + Keyboard (2) RAM +ROM

@) CcPu 4) Calculafor app

2. In normal setup of Windows, the area at the bottom of the screen that shows open applications

is called :
(1) Task Manager : (2) Desktop
(3) Taskbar (4). Control Panel

3. Which one of the following is not an operating systém ?
(1) Windows | -~ (2) Android

@) Linx . (4 MSOffice.

4. Which of the following allows to adjust the date éuid time of yoﬁr‘ co'n'lputer"?
(1) File Explorer | (2) Task Manager

(3) Control Panel (4) Taskbar

9. What does 'Draft’ mean in email services ?
(1) An émail thai has béen sent
(2) A received spam email
(3) A deleted spam email

(4) An email saved but not yet sent

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(B) ' (A P2L0C sy P.T. O.
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Read the following passage carefully and answer the questions 1o. (6-7):

+ The history of coffee is as rich and complex as its flavour. Originating in the ancient coffee forests of

the coffee plant
d to the

Ethiopia, the legend says that goat herders first noticed the stimulating effects of
when their goats became energenc after eatmg its berries. From Ethiopia, coffee travelle
Arabian Peninsula, where it was first cultivated in Yemen. By the 15th century, coffee was being
grown in the Yemem dxstnct of Arabxs;\ and b; the 16th century, it was known in Persia, Egypt, Syria,
and Turkey.' Coffee was not just a drink but played an important role in social life. Coffee houses,

known as gahveh khaneh, became centres for the exchange of information and for socializing.

Coffee reached Europe in the 17th’ century, where it initially faced suspicion, sometirﬁes even being
referred to as "the bitter invention of Satan " However, Pope Clement VIII after tastmg it, reportedly
approved it, and coffee soon became w1dely 'accepted It became a popular beverage, replacing
morning beers and wines, and contributed to'mcreased sobriety and productivity. The first coffee
houses in Europe opened in Venice i in 1645 From Europe, coffee cultivation spread to the Dutch East
Indies (Indonesia) and then to the Amerncas Today, coffee is one of the world's most popular

beverages, consumed globally in various forms.
' voinrnos 160y 1o amis b onb el jenibt of 2

(1) Arabian Peninsula / (2) Turkey

I« | £\
i\ 1J s 1 &y
/

(3) Yemen ‘ (4) Ethiopia

7. What did goat herders reportedly observe about their goats after eating coffee berries ?

(1) They became sleepy.
(2) They became aggressive.
(3) They refused to eat other plants.

(4) They became energetic.

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(B) | )
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8. Arrange the following sentences to form a coherent paragraph.,

(A) She had no idea where to go or what to do.

(B) After losing her way in the dense forest, a young girl felt lost.

(C) Suddenly, she spotted a small, flickering light in the distance.

(D) Hope surged through her as she cautiously moved towards it,
(1) ABCD

(2) BACD |
(3) BCAD (4) ADCB. :
9. Arrange the following sentences to form a coherent paragraph.

(A) These tiny creatures play a crruc1al role in our ecosystem.

\. r\‘ ‘) 'v“‘f";“v".'j,ihl'x‘

(B) Bees are fascmatlng insects known for producmg honey
(C) They are also vital for pollmatmg many plants and Crops.

(D) Without them, much of our food supply would be at risk.
(1) BACD 90 g iseailics

(3) BCAD 0725 (T) (4) CADB

10. Arrange the following sentences to fonn a coherent paragraph.
(A) The internet has revolutionized communication, ,
B) It éilows people to connect across yast distances instantly.
(C) However, it also presents challgnges like cyberbullying and misinfomafion.
(D) Therefore, responsible usagé is paramount, -
(1) ABCD . '@a4AcBD'
(3) BADC ( (4) CDBA

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(B) (o P.T. O.
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11 Rahulis 5 years older than Rohan. If the sum of their ages is 35 Years What is Rahul's age
(1) 15 years (2) 20 years |

(3) 25 years (4) 30 years

12. "Express 145% as a fraction.

(4) 45/40

(1) 29/20 @) 1415 (3) 4045
13. If 40 percent of a number is 57.i, then what is the number ?
(1) 114.4 (2) 134 vl (3) 14440

C(4) 143

14. A student obtains 135 with a peréentage of 7I5. What is ‘;he maximum ma%‘ks ?
(1) 175 ) 180 h (3) 170 “ 7 ) 165
15. If a seller increases selling price of a shirt by 10% of its base selling price Rs. 800 and offers a
rebate of 10%. The new selling price will be :
(1) Rs.800 Gan o (2). Ra792 : } ’I
: x
(3) Rs.880 | (4) Rs.808 |

' 16. Ifan item is sold for Rs. 455 at a loss of 9%. What was its cost price ? i

(1) Rs. 400 (2) Rs. 495

(3) Rs.500 (4) Rs. 550

17. IfA:B——§3:4andB:C=8:9,than:Cis:
1) 1:2. @) 2:3 (3) 3:2 @ 4:3

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(B)
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18.

19,

20.

A’ can do a piece of work in 10 days and 'B' can do it in 15 days. In how many days can ‘Al

and 'B' together complete the work ?
(1) 75 days (2) 12.5 days

(3) 12 days (4) 6days

A 100 meters long train is moving at a speed of 72 km/hr. How long will it take to cross a

pole ?
(1) 5 seconds ' ' 2) 10 seconds“
(3) 15 seconds ~ (4) 20 seconds

The difference between simple and compound interest (annually compdunded) on a sum of

=

Rs. 2,000 for 2 years at 5% per annum is ;

(1) Rs.5 , @) 'Rs. 10
(3) Rs. 20 (4) Rs.50

21. What is the sum of the first 21 whole numbers ?
(1) 229 ‘ 2) 230
(3) 210 . 4 231

'22.  Which of the following is a prime number ?
(1) 87 2 91
3) 97 (4) All are prime

' UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(B) PNV 1 ‘ A P-TLO.
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23. For two distinct natural numbers, which of the following is true.?

(1) Their HCF and LCM can be the same.
(2) Their HCF is always less than their LCM.
(3) Their HCF is always more than their LCM.

(4) None of the above may hold.

(

24. The product of two numbers is 2028, and tﬁeir HCF is 13. What is their LCM ?

(1) 156 @ 13 (3) 2028 (4) 26364

25. Simplify :
0.005 + (= 0.5) + 0.05

1) —0445  (2) —0.505 3) - 0.105 (#) —0.65

26. Whatis 1.125 expressed as a common fraction?

(1) 1/4 2) 1/8_ - (3) 3/16 (4) 9/8
27. Calculate : | '

0.25 x 0.04

(1) 0.010 (2) 0.100 (3) 1.010 ' (4) 0.001

28. Which of the following is the smallest decimal fraction ?

(1) 0.111 (2) 0.101 (3) 0.100 ©(4) 0.011
29. Convert 5/8 to a decimal.

(2) 0.525 (3) 0.825 (4) 0.725

(1) 0.625

- UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(B)
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30. Calculate:
I15x8+4+6-3

(1) 33 G (3) 29 | 4) 27

31. Find the missing number in the series :
2,5,10,17, 7,37

(1) 24 ) 26 (3) 28 ) 30

32. In a certain code language, 'PALE' is coded as '2134' and 'EARTH' 1s coded as '41590". How is
'PEARL' coded in that language ?

(1) 24153 2) 25413

(3) 29413 @) 24513 e

33. Find the odd one out :

(1) Lion N () Tiger
(3) Wolf BRI REY 0y Blephant
% 34. Iftoday is Monday, what day will it be 61 days from now ?'
(1) Saturday 2) Sunday
j (3) Monday | & (4) Tuesday |
1 35. A is the father of B. C is the daﬁ'ghfér of i3 D is the brotlhe'r. of B. E is the son of A. What is the
: relationship between C and D ? | ‘ . |
‘, (1) Nephew (2) Aunt
(3) Niece (4) Cousin
?_?UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(B) SOV THR) AINELDE nui ST PIRO.
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36.

37.

38.

39.

40.

Arrange the following words in a meaningful sequence :

I Study II. Job

III. Test/Examination IV. Application

V. Result

(1) LIV, IV, II @ LIV,ILV,II
() LILILIV,V @ IV,LILV, 11

In a row of students, A is 12th from the left and B is 16th from the right. If they interchange

their positions, A becomes 20th from the left. What is the total number of students in the row ?

(1) 34 (2) 37 . (3) 36 ' ’ @ 35

Select the related word from the given alternatives :
Book: Author :: Food: ?
(1) Utensils - (2) Chef

(3) Hunger _ 7 o . (4) Restaurant

Find the missing number in the series :

£ 3,7,15,31,7,127

(1) 60 (2) 61 _ (3) 63 . (4) 65

Pointing to a man, a woman said, "His mother is the orly daughter of my mother.' How is the

woman related to the man ?
(1) Mother |  (2) Sister

(3) Aunt ' (4) Grandmother

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(B)

Scanned with CamScanner



41.  Choose the most appropriate one-word substitute for the given phrase.
A person who loves books.
(1) Philanthropist ~(2) Bibliophile

(3) Cartographer : (4) Bookphobic

42." Choose the most appropriate one-word substitute for the given phrase.

One who knows many languages.

l (1) Monolingual (2) Bilingual ‘
(3) Polyglot (4) Linguist ~
|
|
\

43. Change the voice (Active-Passive): "She writes a letter."
(1) A letter is written by her. -
(2) A letter was written by her.

(3) A letter has been written by her.

(4) A letter is being written by her.

44. . Change the voice (Active-Passive): "The ball was hit by the boy."
(1) The ball hit the boy. | - .
(2) The boy hit the ball.
(3) The boy was hitting the ball.

(4) The ball has hit the boy.

5-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(B) SUTEULIRNES X (Yo k.

Scanned with CamScanner



. ©®

10

45.

46.

48.

Change the voice (Active-Passive): "They are building 2 new house.”

(1) A new house is built by them.

(2) A new house was built by them.

‘(3) A new house is being built by them.

(4) A new house has been built by them.

Change the voice (Active-Pas,siﬁe): "The ;iecisié).xi vﬁ%l be rﬁade by the c'ommittee."
(1) The committee will make the decision.

(2) The committee made the decision.

(3) The decision was made by the committee.

(4) The decision is made by the committee.

Change the.speech (Direct-Indirect): "He said, 'Tam going to,school: " 1

(1) He said that I was going to school.

(2) He said that he is going to school.
(3) He said that he was going to school.

(4) He said that he had gone to school.

Change the spleech (Direct-Indirec;tj: "Shé a;ske;i me if [ c;;)uid help her." |
(1) She said to me, "Can you help me?"

(2) She said to me, "You can help me."

(3) She asked me, "Could you help her?"

(4) She asked me, "Can I help you?"

UG-4Yr-EE-June, 2025/(BCA)(SET-Y)/(B)
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49, ' . .
Change the speech (Direct-Indirect), choose the most appropriate: "He said to me.

'Don't go there:"

(1) He told me not to go there.

(2) He asked me not to go there.
(3) He ordered me not to go there.

(4) He forbade me to go there.

50. Change the speech (Direct-Indirect): "She exclaimed with joy that she had

won the prize."

(1) She said, "I have won the prize!"
(2) She said, "I won the prize!"

(3) She said, "I had won the prize!"

(4) She Said, "Hﬁfrah!'l have won the prizfc:'!-;"(

51. The......... identifies a resource on the internet, such as a web page.

(1) HTTP ... . (@ uure

bt (3) URL fos .(4) HTML

' 52. Which of the following is a popular search engine ?
(1) Chrome (2) Firefox

. (3) MS Word (4) Google

JG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(B)
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53. Inatypical web address "www.example.com", what does the "com" indiéate ?
(1) Commercial organization
(2) Company website
3) Community website

(4) Communication protocol

54. What is a "bookmark" in a web browsér used for ?
(1) To save a page for offline reading
(2) To mark a page for quick access
(3) To print a page

(4)- To share a page on social media

55. What is phishing ?
(1) A type of online game
(2) An attempt to acquire sensitive information by disguising as a trustworthy entity

(3) A method to speed up internet connection

(4) A technique to create websites

56. Which of the following is a network security device (hardware or software) ?
(1) Router - (2) Switch

(3) Firewall (4) Modem

57. The full form of Wi-Fiis :
(1) Wireless Fidelity . (2) Wired Fibre

(3) Wireless Filter ] (4) Web-based Filter

UG:4Yr.-EE-June, 2025/(BCA)(SET-Y)/(B)
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58. Which of the following fields specify the email recipient(s) ?
(1) To (2) Ce

(3) Bee (4) All of the above

99. In which lab did Timothy Berners Lee, the person behind HTTP work ?
(1) DRDO ' "~ (2) ISRO

(3) AT & T Lab '(4) CERN

60. What is "Spam" in the context of email ?
(1) Important official emails <
(2) ﬁnsolicited emails, often advertisements or scams
(3) Emails wnh large attachments

(4) Emails sent to yourself
Directions (Q. 61-63): Choose the most appropriate sentence to complete the paragraph :

61. The rise of artificial intelligence has sparked a lot of debate. Some fear that Al could
eventually -replace human jobs, leading to widespread unemployment. Others argue that Al

will create new types of jobs and enhance human productivity .......0.........

(1) Al is already used in self-driving cars.

(2) This ongoing discussion highlights the complex ir‘nplications of technological advan;:ément.
(3) Robots are becoming more common in factories. |

(4) Many people still prefer human intéracfion.

'E ]
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62.

63.

B

Exercise is Crucial for maintaaning good physical and mental health. Regular physical
activity can reduce the risk of '

elS ’

...........

I¢s important to fing activities that you enjoy to make it a sustainable habit.
(1) Many People prefer indoor gyms,
(2) Italso helps in Wweight management and strengthens bones.

(3) Eating healthy is also important for health,

(4) Some sports require special equipment.

Climate change is a pressing global issue. Rising global temperatures are leading to melting

glaciers, rising sea levels, and more frequent extreme weather events. ....... ... Immediate and

collective action is needed to mitigate its effects.
(1) -Weather forecasting has improved significantly.

(2) This phenomenon is largely attributed to human activities like burning fossil fuels.

(3) Renewable e_nérgy sources are b'ecoming.cheaper.

! oisdg in ol Fa o int A1
(4) Many countries are developiné new technologies.

Directions (Q. 64-65): Choose the word ;clbsést in meaning to the givén word (Synonym). -~

64.

Abundant : |
(1) Scarce . (2) Limited
(3) Rare _ (.4) ‘Plentiful

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(B)
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65. Vigorous:

Directions (Q. 66-

66.

67.

68.

69.

70.

(1) Weak

(3) Slow

Ancient :
(1) Ooid

(3) Past

Optimist :
(1) Idealist

(3) Pessimist

Choose the correctly spelled word.
(1) Recieve

(3) Recieve

Choose the correctly spelled word.
(1) Occassion

(3) Ocassion

Choose the correctly spelled word.
(1) Vaccum

(3) Vaccuum

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(B)

(2) Energetic

(4) Lethargic

(2) Historic

4) Modem

(2) Realist

(4)' Dreamer

(2) Receive

(4) Recive

(2) Occasion

(4) Ocasione

(2) Vacuum

(4) Vaccumm -

15

67): Choose the word opposite in meaning to the given word (Antonym).
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71,

72,

73.

74.

75.

76.

77.

78.

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(B)

Calculate :
12+1/3-1/6

) 12 ) 3) 5/6 @ 173

Simplify :
Ix(@4+5)-6/2

(1) 24 2 30 . (3) 27 4 15

Find the value of square root of (0.0009).

(1) 0.630 (2) 0.081 - (3) 0.300 (4) 0.0003"

If (X' — 1) = 195, then X is -

M 196 (2 44 () s6 @) 14

The average of the first fifty whole numbers is :

(1) 24 2 25 (3) 245 . (@) 1225

The average 0f 10, 8, X and 20 is 7. What is the value of X ?
(1) 10 @ -10 @3y 7-biaw 4) 23

The average of 7 numbers is 30. If the average of the first thre

€ numbers is 25 and the average
of the next three numbers is 35, What is the last number ? '

(1) 30 @ 20 3) 40 @) 25

The sum of X and ¥ is 25 and their difference is 13. Find x and Y,

(1) 19,6 (2) 20,5 Q) 18,7 (4) 21,4
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79.

80.

81.

82.

83.

84.

Four-fifths of 3 number is

(1) -16

—20. What is the number 7

(2) -25
3) 25
“4) 16

17

The pr / : :
present age of a father is three times the present age of his son. After 10 years the father's

age will be twice the son's age. What is the present age of the father?

(1) 20 years (2) 50 years

(3) 40 years (4) 30 years

Which planet is known as the "Red Planet" ?

(1) Venus (2) Mars

(3) J upiter - | (4) Saturn

Which gas do plants primarily absorb from the atmosphere.for photosynthesis ?
(1) Oxygen ' i (2) Nitrogen

(3) Carbon Dioxide (4 Hydrogen

Joule is the SI unit of which of the following ?,

(1) Quality of jewellery - (2) Resistance

(3) Power . : @ Work_ done

Which of the following is 2 renewable source of energy ?

(1) Coal (2) Natural Gas

(3) Solar Energy (4) Petroleum

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(B) FEWRES T M
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85.

'86.

87.

88.

89.

90.

Graphite and diamond are ............ .
(1) Isomers (2) Isobars

(3) Isotopes ~ (4) Allotropes

Deficiency of Vitamin D causes which disease ?
(1) Scurvy ~ (2) Rickets

(3) Night Blindness * (4) Beriberi

Which force is believed to keep planets in orbit around the Sun 2
(1) Electromagnetic force Ny (2) Nuclear force

(3) Gravitational force = - . (4) Frictional force

Which of the following is an example of a noble gas ?
(1) Oxygen ‘ ' (2) Nitrogen

(3) Carbon (4) Neorn

Which gas is emitted as a result of a plant's respiration ?
p

(1) Oxygen (2) Greenhouse gases

(3) Carbon dioxide b i (4) Nitrogen

The phenomenon-of light bending as it passes from one medium to another is called:
(1) Reflection . ' (2) Refraction

(3) Diffraction | (4) Dispersion

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(B)
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91. Who is known a5 the 'Father of he Indian Constitution' ?

(1) Mahatmg Gandhj
(2) Jawaharlal Nepyy,

(3) Sardar Vallabhbhaj Patel

(4) Bhim Rao Ambedkar

92. Which Indijan State(s)
rthinoceros 9

(1) Uttarakhand

(2) Assam
(3) UP-Haryana ("} (4) Rajasthan
93.  The 'Quit India Movement' was launched in which year ?
1) 1930 L (@2) 1945,
3) 1947 (4) 1942

94. | Who i said to have invented the light bulb ?
(1) Alexander Graham ];ell
(2) Marie Curie
(3) Thomas Alva Edison

(4) Nikola Tesla

95. The Gobi Desert is located in which continent ?
(1) Africa ‘ e (2) North America
(3) Asia _ (4) South America

{G-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(B)
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is/are famous for the. 'Kaziranga National Park', home to the one-homned
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96.  The 'Davis Cup'is associated with which of these following sports ?
(1) Football (2) Cricket
(3) Hockey (4) Tennis
97. The headquarters of the Reserve Bank of India is located in :
(1) New Delhi (2) Kolkata
() Mumbai . . (4 Chandigarh

98. The National Anthem of India, "Jana Gara Mana", was originally composed in which

language ? 3
(1) Hindi aioes (2) Bengali -
(3) Sanskrit _ (4) Tamil

cxio]
99. Who wrote the famous book 'Discovery of India' ?
(1) Mahatma Gandhi LOT
(2) Rabindranath Tagore |
" (3) Jawaharlal Nehru

(4) Sardar Patel

100. Which country is said to be the largest democracy in the world?
(1) USA (2) China

(3) Russia (4) India

UG-4Yr.-EE-June, 2025/(BCA)SET-Y)/(B)
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(DO NOT OPEN THIS QUESTION BOOKLET BEFORE TIME OR UNTIL YOU

ARE ASKED TO DO SO l
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Sr.No. ... ... .. .. ...
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4. Question Booklet along with answer key of all the A, B, C & D code shall be got uploaded on the
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the Controller of Examinations by hand or through email. Thereafter, no complaint in any case, will be
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5. The candidate must not do any rough work or writing in the OMR Answer-Sheet. Rough work, if any,
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6. There will be no negative marking. Each correct answer will be awarded one full mark.
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as incorrect answer.
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Calculate :

12+1/3-1/6

1 12 (2) 273 (3) 5/6 4 13
Simplify :

3Ix(@4+5)-672

(1) 24 2) 30 - (3) 27 4) 15

Find the value of square root of (0.0009).

(1) 0.030 2) 0.081 (3) 0.300 (4) 0.0003

If (X' — 1) = 195, then X is :

M 196 (2 44 | (3) 56 @) 14

The average of the first fifty whole numbers is :
(1) 24 ) W L — (3) 245 - _ (4) 1225,

The average of 10, 8, X and 20 is 7. What is the valuq of X s : |
(1) 10 @) -10 3) 7 @ 23

The average of 7 numbers is 30. If the average of the first three numbers is 25 and the average
of the next three numbers is 35. What is the last number ?

(1) 30 (2) 20 ' (3)¥40dkwesaca (4) 25

The sum of X' and Y is 25 and their difference is 13, Find X'and Y.

() 19,6 @) 20,5 (3) 18,7 @ 41,4

1
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10.

11.

12.

13.

““/(3) Power

14.

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(C)

Four-fifths of a number is —20. What is the number ? : tpiugle.d

(1) -16 (2) =25 (3) 25 ) 16

The present age of a father is three times the present age of his son. After 10 years the father's
age will be twice the son's age. What is the present age of the father?

(1) 20 years (2) 50 years

(3) 40years -« "1 (4) 30 years

Which planet is known as the "Red Planet" ?
(D Venus " Bk ) (2) Mars 130.0° 1%)

(3) Jupiter _ (4) Saturn ol L rpody 000

=il hy ot 45) : B (3 L
Which gas do plants primarily absorb from the atmosphere for photosynthesis ?

(1) Oxygen ' | : & (2)iNitrogen <1+l szl odtio oneo
(3) CabonDioxids! - % ) (4) Hydrogen'* <~

Joule is the ST unit of which of the followitig 2"

Y i

(1) Quality of jevxlfellery‘ ) (2) Resistance
LU Gy Work done”

Which of the following is a renewable sour_ce'of energy ?

(1) Coal S ; “ : (2) Natural Ga;

(3) Solar Energy ; (4) Petroleum

N
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15.

16.

17.

18.

19.

20.

|

Graphite and diamond are ............ .

(1) Isomers (2) Isobars
(3) Isotopes | | (4) Allotropes
Deficiency of Vitarniﬁ D causes whic}; disease ?

(1) Scurvy | (2) Rickets

(3) Night Blindness (4) Beriberi

Which force is believed to keep planets in orbit around the Sun ?
(1) Electromagnetic force v "' (2) Nuclear force

(3) Gravitational force AR (4) -Frictional force .

Which of the following is an example of a noble gas ?

(1) Oxygen | (2) Nitrogen

(3) Carbon ‘(4) Neon /' "

Which gas is emitted as a result of a plant's respiration ? .
(1) Oxygen (2) Greenhouse gases

(3) Carbon dioxide (4) Nitrogen =

The phenomenon of light bending as it passes from one medium to another is called:

(1) Reflection ' : (2) Refraction

(3) Diffraction | (4) Dispersion

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(C)
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21. Who is known as the 'Father of the Indian Constitution' ?

(1) Mahatma Gandhij
(2) Jawaharlal Nehru
(3) Sardar Vallabhbhai Patel

(4) Bhim Rao Ambedkar

22. Which Indian state(s) is/are famous for the 'Kaziranga National Park', home to the one-horned
thinoceros ? \ ’ L

(1) Uttarakhard ¢ iz mdy I (2) Assam

(3) UP- Haryana ‘ - . . (4) Rajasthan

23. The 'Quit India Movement' was launched in which year ?
(1) 1930 () 1945

(3) 1947 @ 12

24. Who is said to have invented the light bulb,?
(1) Alexander Graham Bell
(2;) Marie Curie
(3) Thomas Alva Edison

(4) Nikola Tesla

25. The Gob‘ilDrésef't"is 'loéated m Which continent ?
(1) Africa | ' (2) North America
(3) Asia - "' (@) South America

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(C) R E SN A
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26. The 'Davis Cup' is associated with which of these following sports ?
(1) Football | (2) Cricket
(3) Hockey (4) Tennis
27. The headquarters of the Reserve Bank of India is located in :
(1) New Delhi (2) Kolkata .
(3) Mumbai (4) Chandigarh -
28. The National Anthem of India, "Jana Gana Mana", was originalty cbinposed in which
language ?
(1) Hindi  (2) Bengali -
(3) Sanskrit. ‘ (4 Tamil
29. Who wrote the famous book ‘Discovery of India' ? a0c wd aeiiT s A ()
(1) Mahatma Gandhi | e b
(2) Rabindranath Tagore
(3) Jawaharlal Nehru
(4) Sardar Patel
30. Which country is said to be the largest democracy in the world 2/
(1) USA (2) China /! /- i o
(3) Russia @) India s ol o i sad e d o
UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(C) L THRNADDEL0S il - BT O,
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31. Choose the most appropriate one-word substitute for the given phrase.

A person who loves books.
(1) Philanthropist (2) Bibliophile

(3) Cartographer (4) Bookphobic

32. Choose the most appropriate one-word substitute for the given phrase.

One who knows many languages.
(1) Morolingual . (2) Bilingual

(3) Polyglot ' (4) Linguist

33. Change the voice (Active-Passive): "She writes a letter."
(1) A letter .is written by her.
(2) A letter was written by her.
(3) A letter has been wﬁ‘;ten by Her.

(4) Aletter is being written by her.

34. . Change the voice (Active-Passive): "The ball was hit by the boy."
(1) The ball ﬁit the boy.
(2) The boy hit the ball.
(3) The boy was hitting the ball.

(4) The ball has hit the boy.

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(C) STV

e S S ———
Scanned with CamScanner




35.  Change the voice (Active-Passive): "They are building a new house."
(1) A new house is built by them. |
(2) A new house was built by them.
(3) A new house is being built by them.

(4) A new house has been built by them.

36. Change the voice (Active~Pass_ive): "The decision will be made by the committee."
(1) The commiﬁcc will make the decision.
(2) The committee méde thé decisio;;;;
(3) The decision was made by the committee.

(4) The decision is made by the committee.

37. Change the speech (Direct—Indire‘ct): "He said, Tam goiné to school.v "
(1) Hesaiditze] Was'gOing to school. nSE \
(25 He said that he is going to school. el
(3) He said that he was going to school.

(4) He said that he had gone to school. =~

38. Change the speech (Direct-Indirect): "She asked me if I could help her."
(1) She said to me, "Can yoﬁ help me?"
) She said to me, "You can help me."
(3) -She asked me, "Could you help her?"

(4) She asked me, "Can I help you?"

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(C) P.T.O.
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39, Change the speech (Direct-Indirect), choose the most appropriate: "He said to me.

'Don't go there:"

(1) Hetold 'me not to go there.

(2) He asked me not to go there.
(3) He ordered me not to go there.

(4) He forbade me to go there.

40. Change the speech (Direct-Indirect): "She exclaifned with joy that she had
won the prize."
(1) She said, "I have won the prize!"
(2) She said, "I vyoﬁ the prize!"
(3) She éaid, "T had won tﬁe priz;c!;' |

(4) She said, "Hurrah! I have won the priZe!"

41. The ....... identifies a resource on the internet, such as a web page.
() HITP (@) UUTP
(3) URL b U (4 HTML
42, Which of the following is a popular search engi.né ? o .
(1) Chrome (2) Firefox
(3) MS Word : (4) Google

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(C)
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43. Inatypical web address "www.example.com", what does the "com" indicate ?
(1) Commercial organization ‘

(2) Company website

(3) Community website

(4) Communication protocol

44. What is a "bookmark" in a web browser used for ?

5
(1) To save a page for offline reading %{g
D]
(2) To mark a page for quick access ;:;f
(3) To print a page f’?g

30T A

(4) To share a page on social media -

G

45. What is phishing ?
(1) A type of online game
(2) An attempt to acquire sensitive information by disguising as a trustworthy 'el‘lti\ty
(3) A method to speed up internet cqnnection

(4) A technique to create websites

46. Which of the following is a network security device (hardware or software) ?
(1) Router (2) Switch

(3) Firewall (4) Modem

47. The full form of Wi-Fi s :

(1) Wireless Fidelity (2) Wired Fibre
! (3) Wireless Filter (4) Web-based Filter
UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(C) i INESUS sl APATIO.
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48. Which of the following fields specify the email recipient(s) ?
(1) To '@ Co
() Bee (4) All of the above

49. In which lab did Timothy Berners Lee, the person behind HTTP work ?
(I) DRDO (2). ISRO

(3) AT&T Lab | '(4)" CERN

i

50. What is "Spam" in the context of email ?.
(1) Important official emails . . )
(2) Unsolicited emails, often advertisements or scams | .+

(3) Emails with large attachments
(4) Emails sent to yourself

%

51. What is the sum of the first 21 whole numbers ?

(1) 229 2) 230 ey @ 231

52. Which of the following is a prime number ?

(1) 87 @) 91 BN R (4) All are prime

53. For two distinct natural numbers, which of the following is true ?
(1) Their HCF and LCM can be the same.
(2) Their HCF is always less than their LCM.
(3) Their HCF is always more than their LCM.
(4) None of the above may hold.

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(C)
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54.

55.

56.

57.

58.

The product of two numbers is 2028, and their HCF is13. What is their LCM ?

(1) 156 @) 13 . (3) 2028

Simplify :
0.005 + (- 0.5) + 0.05

(1) -0.445 ) -0.505 (3) —-0.105

What is 1.125 expressed as a common fraction ?

(1) 1/4 () 1/8 . (3) 3016
Calculate :’
0.25 x 0.04
(1) 0.010 @) 0100 (3) 1.010

Which of the following is the smallest decimal fraction ?

1) 0.111 (2) 0.101° -~ (3) 0.100
/

Convert 5/8 to a decimal.

(1) 0.625 (2) 0.525 (3) 0.825
Calculate :

15%x8+4+6=3

(1) 33 (2) 36 (3) 29

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(C)
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61.

62.

63.

64.

65.

Which part of the computer performs calculations and logical operations 7
(1) Monitor + Keyboard . (2) RAM+ROM

(3) CPU (4) Calculator app

In normal setup of Windows, the arca at the bottom of the screen that shows open applications
is called :

(1) Task Ménager J ') De.skt(sﬁ)
(3) Taskbar ", (4) Control Panel . -

Which one of the following is not an operating system ?

(1) Windows (2) Android

(3) Linux : (4) MS Office

Which of the following allows to éidjust the date and time of your computer ?
(1) File Explorer  roitos (2)" Task Manager

(3) Control Panel - “10 . (4) Taskbar-' .

What does 'Draft' mean in email services ?
(1) An eﬁail that has been sent

(2) A received spam email

(3) A deleted spam email

(4) An email saved but not yet sent _

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(C)
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Read the following passage carefully and answer the questions 1o. (66-67) : .

ffee forests of
ffee plant
the

The history of coffee is as rich and complex as its flavour. Originating in the ancient €0

Ethiopia, the legend says that goat herders first noticed ‘the stimulating effects of the co

when their goats became energetic after eating its berries. From Ethiopia, coffee, travelled to

Arabian Peninsula, where it was first cultivated in Yemen. By the 15th century, coffee was being

grown in the Yemeni district of Arabia and by the 16th cen
and Turkey.' Coffee was not just a drink but played an impo

known as gahveh khaneh, became centres for the exchange of info

tury, it was known in Persia, Egypt, Syria,

rtant rofe in social life. Coffee houses,

rmation and for socializing.

Coffee reached Europe in the 17th century, Where it initially faced,suspicion, sometimes even being

~ referred to as "the bitter invention of Satan." However, Pope Clement VIII after tasting i it, reportedly

approved it, and coffee soon became widely accepted It became a popular beverage, replacing

morning beers and wines, and contributed ta increased sobriety and productivity. The first coffee

houses in Europe opened in Venice in 1645. From Europe, coffee cultivation spread.to the Dutch East

Indies (Indonesia) and then to the Americas. Today, coffee is one of the world's most popular
1 ! | (J L L0 o) Jlior

’ ksl 4

beverages, consumed globally in various forms.

66. Where is coffee believed to have originated ?
(1) Arabian Peninsula (2) Turkey. -

(3) Yemen 4) Ethio_pia o
67. What did goat herders reportedly observe - about their goats after eating coffee berries 7

(1) They became sleepy.

(2) They became aggressive.
(3) They refused to eat other plants.

(4) They became energetic.

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(C) e TR AN P.T. O.
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68-

69.

70,

Arrange the following sentences to form a coherent paragraph.
(A) She had no idea where to go or what to do.

(B) After losing her way in the dense forest, a young girl felt lost.
(C) .Suddenly, she spotted a small, ﬂ;ckermg light in the distance.
(D) Hope swged through her as she cautlously moved towaxds it.

() ABCD . . (2) BACD.

(3) BCAD- LTG0 ' (4) ADCB

Arrange the following sentefices to form a coherent paragrap'h. =i

3 TS0

* (A) These tiny creatures play a crucial rofe in our ecosystem.

B) Eoos _aro foscinati_ng insects known for producing honey.
(C) They are a;so vital for pollinating many plants and orops :
D) Wlthou‘ them much of our food supply would be at r1sk
(1) BACD (2) ADCB "

(3) BCAD : '(4)“CADB :

Arrange the following sentences to form a coherent paragraph.
(A) The internet has revolutiomiied communication.
(B) It allows people'to connect across'vast distances instantly, '

(C) However, it also presents challenges like cyberbullying and misinformation.

(D) Therefore, responsible usage is paramount.
(1) ABCD (2) ACBD
(3) BADC , ~ (4) CDBA

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(C)
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Directions (Q. T1-73): Choose the most appropriate sentence to complefe the paragraph ..

71. The rise of artificial intelligence has sparked a lot of debate. Some fear, that Al could

72

eventually replace human jobs, leading to widespread unemployment. Others argue that Al

will create new types of jobs and enhance human productivity ......coeennn t
(1) Alis already used in self-driving cars.
(2) This ongoing discussion highlights the compiex implications of technological advancement.

(3) Robots are becoming more common in factories.
(4) Many people still prefer human interaction.

Exercise is crucial for maintaining good physical and mental health. Regular physical
activity - can reduce ‘the- risk. of: chronic diseases,; improve mdod, and' boost  energy.

levels ........... It's important to find activities that you enjoy to make it a sustainable habit.

(1) Many people prefer indoor gyms.
(2) It also helps in weight managelﬁent and strengthens bones.
(3) Eating healthy is also important for health.

(4) Some sports require special equipment.

elite

Climate change is a pressing global issue. Rising global tempei'atwres are leading to melting

glaciers, rising sea levels, and more frequent extreme weather events. .......... Immediate and

collective action is needed to mitigate its effects.

' r
L

(1) Weather forecasting has improved significantly.

Ve
4

(2) This phenomenon is largely attributed to human activities like burning fossil fuels.
(3) Renewable energy sources are becoming cheaper,

(4) Many countries are developing new technologies.

JG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(C) ONC-TASNADENELOE il 77t~ P{T. O
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Directions (Q. 74-75): Choose the word closest in meaning to the given word (5 nonym)

74.

75.

Abundant :
(1) Scarce

(3) Rare

Vigorous :
(1) Weak

(3) Slow

(2) Limited

(4) Plentiful

(2) Energetic

(4) Lethargic

1

Directions (Q. 76-77):'Choose the word opposite in meaning to the given word (Antonym).

76.

78.

Ancient ;
(1) old

(3) Past

Optimist :

(3) Pessimist

Choose the correctly spelled word. 8

(1) ’Reciev’e

.(3) Recieve

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(C)
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"' (2) Realist

(2) Historic.

(4) Modern

{
I

-(4) - Dreamer,

‘ '(25 Rec;eive

" (4) Recive
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79. Choose the Correctly spelled word

(1) Occassion
(2) Occasion

(3) Ocassi
e (4) Ocasione

80. Choose the correctly spelled word.
(1) Vaccum ' (2) Vacuum

(3) Vaccuum (4) Vaccumm

81. Find the missing number in the series :
2,5,10,17,7,37

(1) 24 (2) 26 3) 28 ' @) 30 |

82. In a certain code language, 'PALE' is coded as '2134' and 'EARTH' is coded as '41590". How is
'PEARL' coded in that language ?

(1) 24153 A ' L (2) 25413

(3) 29413 @) 24513

83. Find the odd one out :

(1) Lion ~ (2) Tiger

(3) Wolf (4) Elephant

84. If today is Monday, what day will it be 61 days from now ?

(1) Saturday (2) Sunday

(3) Monday (4) Tuesday

'r. -:‘:’ a3 i Ly
G-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(C) P.T.O.
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85.

86.

87.

88.

89.

‘Al ' ; . What i
Als the father of B, C g the daughter of B. D is the brother of B. E is the son of A. What is th

relationship between C and D ?
(1) Nephew (2) Aunt

(3) Niece ‘ (4) Cousin

Arrange the following words in a meaningful sequence :

I.  Study II. Job

IIl. Test/Examination | IV. Application
V. Result

(1) LIV, IV, 1 ' 2 LIV,ILV,II
3) LILULIV,V : @) IvV,LI,V,II

Ina rqw of students, A is 12th from the leff and B'is 16th from the right. If they interchang
their positions, A becomes 20th from the left. What is the total number of students in the row ¢

1 34 @ 37 Y- (3) 36 4) 35

Select the related word from the given alternatives :
Book: Author :: Food: ? -
(1) Utensils T (2) Chef

(3) Hunger g " (4) Restaurant _

Find the missing number in the series :

3,7,15,31,7,127
(1) 60 2) 61 . o) @) 63 S @ 65

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(C)
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- g0. Pointing to a man, a w . .
oman said, "His mother is the only daughter of my mother.' How is the
woman related to the map 9 | '

Wi o

(1) Mother
(2) Sister

(3) Aunt
(4) Grandmother

et 2 A sty

' 91. Ra-hul 1s 5 years ?'ldcf than Rohan. If the sum of their ages is 35 years. What is Rahul's age ?
(1) 15 years 2) 20 years
(3) 25 years @ 30 yeérs

192 Express 145% as a fraction.
i

(1) 29/20 (2) 14/15 - =.(3) 40/45 (4) 45/40

| e i
1 93. - If 40 percent of a number is 57.2; then what is the number:? @{

i B

B B %

(1) 114.4 @ 134 (3) 144.4 @) 143 i’g

brinsoe 31 (N) |

‘594. A student obtains 135 with a percentag;a of 75. What is the maximum marks ?

1) 175 2) 180 (3) 170 @) 165

95. If a seller increases selling pﬁce of a shirt by 10% of its base selling price Rs. 800 and offers a

rebate qf 10%. The new selling price ‘:‘w‘ill‘bcj :
(1) Rs.800 B (2) Rs.792
(3) Rs.880 (4) Rs.808
P- Tc O. Y
5-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(C)
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6.

97.

98.

99,

100.

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(C)

If an item is sold for Rs. 455 at a loss of 9%. What was its cost price ?
(1) Rs. 400 (2) Rs. 495

(3} Rs. 500 | (4) Rs. 550

IfA:B=3:4andB:C=8:9,thenA;:Cis:
M1:2 @) 2:3 ey a2 4) 4:3

'A' can do a piece of work in 10 days and 'B' can do it in 15 days. In how many fiays can "A’

and 'B' together complete the w<;rk ?
(1) 75 days (2) 12.5days ..

(3) 12days/' - LG (7 (4) 6days -

A 100 meters long train is moving at a speed of 72 km/hr. How long will it take to cross a

pole ?
(1) 5 seconds (2) 10 seconds
(3) 15 seconds o o 4) 20 secondé o

. AT P ;
V¢ LR | dre G

The difference between simple and compound interest (annually compounded) on a sum of

"' Rs. 2,000 for 2 years'at 5% pér‘annum is : '

L 32 " L

(1) Rs. 5 2) Rs.10

(3) Rs.20 7 (@) Rs.50

P
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2. The candidates must return the question booklet as well as OMR Answer-Sheet to the InvigilatG
concerned before leaving the Examination Hall, failing which a case of use of unfair-
means / mis-behaviour will be registered against him/ her, in addition to lodging of an FIR with the
police. Further the answer-sheet of such a candidate will not be evaluated.

3. Keeping in view the transparency of the examination system, carbonless OMR Sheet is provided to
the candidate so that a copy of OMR Sheet may be kept by the candidate. :

4. Question Booklet along with answer key of all the A, B, C & D code shall be got uploaded on the
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valid objection/compiaint if any, with regard to discrepancy in the question booklet/answer key within
24 hours of uploading the same on the University Website. The complaint be sent by the students to
the Controller of Examinations by hand or through email. Thereafter, no complaint in any case, will be
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Cutting, erasing, overwriting and more than one answer in OMR Answer-Sheet will be treated
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Find the missing number in the series :

2,5,10,17,7, 37
(1) 24 (2) 26

3) 28 | @) 30

In a certain code language, 'PALE' is coded as '2134' and 'EARTH' is coded as '41590'. How is
'PEARL' coded in that language ?

(1) 24153 ‘ 2 - (2) 25413
(3) 29413 . _ (4) 24513
Find the odd one out :

(1) Lion " (2) Tiger
(3) Wolf - , (4) Elephant

If today is Monday, what day will it Be 61 days from now ?
(1) Saturday (2) Sunday
(3) Monday (4) Tuesday

A is the father of B. C is the daughter of B. D is the brother of B. E is the son of A. What is the
relationship between C and D ? |

(1) Nephew ) (2) Aunt
(3) Niece (4) Cousin
UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(D) (1) A A ’ P.T.O.
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6. Arrange the following words in a meaningful sequence : -

I Study II. Job

III. Test/Examination - IV. Application
V. Result -

(1) LILV,IV,1II @ LIV,OLV,I

G)oLIL IV, V. s/ e 77 s () oIV, LIV, 1

7. In arow of students, A is 12th from the left and B is 16th from the right. If they interchange

their positions, A becomes 20th from fhé left. What is the total number of students in the row ?

(1) 34 @ 37 @) 36 : 4 35

8. Select the.related word from the given alternatives :

Book: Autkor :: Food: 2 19g:4 (&)
(1) Utensils indouicl (8) (2) Chef
. (3) Hunger (4) Restaurant

Ul
9. Find the missing number in the series : |

3,7,15,31,2, 127 Eame o
(1) 60 (2) 61 (3) 63 (4) 65

£ .

10. Pointing to a man, a woman said, "His mother is the only daughter of my mother.' How is the

woman related to the man ?
(1) Mother (2) Sister
(3) Aunt (4) Grandmother

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(D)
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11.  Choose the most appropriate one-word substitute for the given phrase.
A person who loves books.
(1) Philanthropist (2) Bibliophile

(3) Cartographer (4) Bookphobic

12. Choose the most appropriate one-word substitute for the given phrase.
One who knows many languages.
¢)) Monolinguai : ' (2) Bilingual

(3) Polyglot ‘ (4) Linguist

13. Change the voice (Active-Passive): "She writes a letter."
(1) A letter is written by l:ﬂc;r. LG
(2) A letter was written by her.
(3) A letter has 1b.ccn written by her. |

(4) Aletteris beihg writter by her. -

14. . Change the voice (Active-Passive): "The ball was hit by the boy."
(1) The ball hit the boy. |
(2) The boy hit the ball.
(3) The boy was hitting the ball

(4). The ball has hit the boy.

| UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(D) T P.T.O.
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15. Change the voice (Active-Passive): "They are building a new house.”
(1) A new house is built by them.
(2) A new house was built by them. .
(3) A new house is being built by them.

(4) A new house has been built by them.

16. Change the voice (Actiw}e-Pasgive): "Thé decision will be ﬁade by the committee."
(1) The committee will make the decision.
(2) The committee made the &éciéidn. l
(3) The decision was made by ‘the committee.

(4) The decision is made by the committee.

17. Change the.speech (Digect.-Indirect): "He said., 'l am going to school. "
(1) He said that I was going to school. |
(2) He said that he is going to school.
(3) He said that he was going to school.

(4) He said that he had gone to school.

18. Change the speech (Direct--Inciir;ect): "She asked me if I could help her."
(1) She said to me, "Can you help me?"
(2) She said to me, "You can help me."
(3) She asked me, "Could you help ker?"

(4) She asked me, "Can I help you?“

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(D) ~ DN
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19,

20.

21.

22,

Change the speech (Direct-Indirect), choose the most appropriate: "He said to me.

'Don't go there:"

(1) He told me not to go there.

(2) He asked me not to go there.
(3) He ordered me not 1o go thére.

(4) He forbade me to go there.

Change the speech (Direct-Indi;éét): "éhe exclaimed with joy that she had
won the prize." |

(1) She said, "I have won the prize!"

(2) She said, "I won the prize!"

(3) She said, "I had won the prize!"

(4) She said, "Hurrah! T have won the prize!"

Which part of the computer performs calculations and logical operations ?

(1) Monitor + Keyboard (2) RAM +ROM

(3) CPU (4) Calculator app

In normal setup of Windows, the area at the bottom of the screen that shows open applications

is called :
(1) Task Manager (2) Desktop

(3) Taskbar | (4) Control Panel

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(D) C NN AT AHENESOT ansi e PAT.O
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23. Which one of the following is not an operating system ?
(1) Windows (2) Android

(3) Linux (4) MS Office

24. Which of the following allows to adjust the date and time of your computer ?

(1) File Explorer : (2) Task Manager

(3) Control Panel (4) Taskbar

&l
3l

25. What does 'Draft' mean in email serv-ic,es ?
(1) An email that has been sent
. (2) A received spam email
(3) A deleted spam email

(4) An email saved but not yet sent

Read the following passage carefully and answer the.questions no. (26-27) :

The history of coffee is as rich and complex as its flavour. Originating in the ancient coffee fofests of
Ethiopia, the legend says that goat herders first noticed the stimulating effects of the coffee plant
when their goats became energetic after eating its berries. From Ethiopia, coffee travelled to the
. Arabian Peninsula, where it was first cultivated in Yemep. By the 15th’centm-y, coffee was befng
grown in the Yemeni district of Arabia and by the 16th century, it was known in Persia, Egypt, Syria,
and Turkey." Coffee was not just a drink but played an important role in social life. Coffee houses,

known as gahveh khaneh, became centres for the exchange of information‘and for socializing,

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(D) U
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Coffee reached Europe in the 17th century, where it initially faced suspicion, sometimes even being
| referred to as "the bitter invention of Satan." However, Pope Clement VIII after tasting it, reportedly
approved it, and coffee soon became widely accepted. It became a.popular beverage, replacing
morning beers and wines, and contributed to increased sobriety and productivity. The first coffee
houses in Europe opened in Venice in 1645. From Euzope, coffee cultivation spread to the Dutch East
Indies (Indonesia) and then to the Americas. Today, coffee is one of the world's most popular

beverages, consumed globally in various forms.

26. Where is coffee believed to have originated ?
(1) Arabian Peninsula . . . (2) Turkey. .

(3) Yemen . (4 Bthiopia

27. What did goat herders reportedly obs‘eﬁe about their goats after eating coffee berries ?
(1) They became slre’evpy.'
(2) They became aggressive.
(3) They refused to eat other plants.

(4) They became energetic. °

28.  Arrange the following sentences to form a coherent paragraph.
(A) She had no idea where to go or what to do.
(B) After losing her way in the dense forest, a young girl felt lost.
(C) Suddenly, she spotted a small, flickering light in the distancel

(D) Hope surged through her as she cautiously moved towards it.

(1) ABCD (2) BACD
(3) BCAD (4) ADCB
UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(D) 11 VAES e P.T.O.
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29. Arrange the following sentences to form a coherent paragr aph..
(A) These tiny creatures play a crucial role in our ecosystem.
(B) Bees é:e fascinating insects known for. producing hohey.
(C) They are also vital for pollinating ‘many plants and crops.
(D) Without them, much of our food supply would be at risk. -
(1) BACD | (2) ADCB
(3) BCAD ' (4) CADB . :
30. .An'ange the following sentences to form a coherent paragraph, ek
(A) The internet ilas revolutionized communication.
(B) It allows people to connect across vast distances; instantly.,

(C) However, it also presents challenges like cyberbullying and misinformation.

(D) Therefore, responsible usage is.paramouﬂt. : , 26 OITIBD
(1) ABCD 2) ACBD ... .
(3) BADC (4) CDBA

31. Rahul is 5 years older than Rohan. If the sum of their ages is 35 years. What is Rahul's age ?
(D 15 years- (2) 20 years

(3) 25 years _ k4) 30 years

32. Express 145% as a fraction.
(1) 2920 (2) 14/15

(3) 40/45 @) 45/40

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(D)
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33.

34.

35.

36.

37.

38.

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(D) .

If 40 percent of a number is 57.2, then what is the number ?

(1) 1144 (2) 134 (3) 144.4 4) 143

A student obtains 135 with a percentage of 75. What is the maximum marks ?

(D) 175 (2) 180 3) 170 4) 165
If a seller increases selling price of a shirt by 10% of its base selling price Rs. 800 and offers a
rebate of 10%. The new selling price will be :

(1) Rs.800 - (2) Rs.792.

(3) Rs.880 | | (4) Rs.808 ’

If an item is sold for Rs. 455 at a loss of 9%. What was its cost-price ?
(1) Rs.400 - () Rs.495

(3) Rs. 500 o () Rs.550 -

IfA:B=3:4andB:C=8:9,then'’A:Cis;

1 1:2 @) 2:3 @32 @) 43

'A' can do a piece of work in 10 days and 'B' can do it.in 15 days. In how many days can 'A'
and 'B' together complete the work ?

(1) 75 days (2) 12.5 days

(3) 12 days e . (4) 6days
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39. A 100 meters long train is moving at a speed of 72 km/hr. How long will it take to cross a

pole ?
(1) 5 seconds (2) 19 seconds
(3) 15 seconds 4 20 seconds

40. The difference between simple and compound interest (annually compounded) on a sum of

Rs. 2,000 for 2 years at 5% per annum is :
(1) Rs.5 ) Rs. 10

(3) Rs.20 (4) Rs.50

41. What is the sum of the first 21 whole numbers ?

(1) 229 @230 0 3210 © (4 231

42. Which of the following is a prime number ?
1y 87 @) 91 @3) 97 (4) All'are prime

43. For two distinct natural numbers, which of the following is true 7'

(1) Their HCF and LCM can be the same.
(2) Their HCF is always less than their LCM.

(3)" Their HCF is always more than their LCM.

(4) None of the above may hold.

44. The product of two numbers is 2028, and their HCF is 13. What is their LCM ? 7

(1) 156 @13 () 2028 4) 26364’

’
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45.

46.

47.

48.

49,

50.

51.

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(D) P

Simplify :
0.005 + (- 0.5) +0.05

(1) —0.445 2) -0.505 (3) -0.105

What is 1.125 expressed as a common fraction ?

(1) 1/4 (2) 1/8. - (3) 3/16
Calculate :

0.25 x 0.04

(1) 0.010 (2) 0.100, . . . (3) L1010
Which of the following is the smallest decimal fréction ?
(1) 0.111 (2) 0.101 (3) 0.100
Convert 5/8 to a decimal.

(1) 0.625 (2) 0525 "1 ) (3) 0.825
Calculate :

15x8+4+6-3

(1) 33 (2) 36 , (3) 29
Which planet is known as the "Red Planet" ?

(1) Venus (2) Mars

(3) Jupiter , i (4) Saturn

11

4) —0.65

. (4) 9/8

4) 0.001
(@ 0011

@) 0.725

(4) 27

| '\.'v '. b ST (1 IR P'TIO.
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52.

53.

54.

55.

56.

57.

-

Which gas do plants primarily absorb from the atmosphere for photosynthesis ?
(1) Oxygen (2) Nitrogen

(3) Carbon Dioxide | (4) Hydrogen

Joule is the SI unit of which of the following ?

(1) Quality of jewellery (2) Resistance

(3) Power ' (4) Work done

Which of the following is a renewable source of energy ?

(1) Coal - © Y (2) Natural Gas

(3) Solar Energy . (@ Petroleum )
Graphite and diamond are ........... .

(1) Isomers (2) Isobars 5
(3) Isotopes ' - 4) AilbtrOpes

Deficiency of Vitamin D causes which disease ?

(1) Scurvy (2) Rickets

(3) Night Blindness (4) Beriberi

Which force is believed to keep planets in orbit around the Sun ?
(1) Electromagnetic force (2) Nuclear force

(3) Gravitational force (4) Frictional force

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(D)
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58. Which of the following is an example of a noble gas ?
(1) Oxygen ) (2) Nitrogen
(3) Carbon (4) Neon
59. Which gas is emitted as a result of a plant's respiration ?
(1) Oxygen Ko vulsv oy (2) Greenhouse gases ‘
(3) Carbon dioxide (4 Nitrogen
60. The phenomenon of light bending as it paéses; f‘roquﬁe‘ médiu;rll_;tp aqofhgr_is called: -
(1) Reflection ho(EY (2) Refraction' /, -
(3) Diffraction ] ), Dispngsion he ¢
61. Calculate:
172+1/3-1/6
1 12 (2) 2/3 o (3) 5/6 @ 173
- 62. Simplify:
3Ix(4+5)—6/2
) 24 ) 30 @) 27 (4) 15
63. Find the value of square root of (0.0009).
UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(D) N ROF TR A VRS . P.T.O.
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64.

65.

66.

67.

68.

69.

70.

71

{GAYr.-EE-June, 2025/(BCA)(SET-Y)/(D)
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If (X — 1) = 195, then Xis :

(1) 196 ) 44 (3) 56 : 4) 14

The average of the first fifty whole numbers is :

(1) 24 () 25 ) M5 (4) 1225

The average of 10, 8, X and 20 is 7. What is the value of X'?
(1) 10 @ -10 3) 7 4 23

The average of 7 numbers is 30. If the average of the first three numbets is 25 and the average

" of the mext three numbers is 35. What is the last number ?”

(1) 30 (2) 2070 (3) 40 4) 25

The sum of X and ¥is 25 and their difference is 13. Find X and Y.

(M) 19,6 @ 20,5 (3) 18,7 @) 21,4

Four-fifths of a number is —20. What is the number ?

(1) =16 At () 25 9 (& (3) 25 @) 16

The present age of a father is three times the present age of his son. After 10 years the father's
age will be twice the son's age. What is the present age of the father?

(1) 20 years (2) 50 years (3) 40 years (4) 30 years
The ......... identifies a resource on the internet, suéh as a web page.
(1) HTTP L (2) UUTP-

(3) URL .. (4 HTML
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72. Which of the following is a popular search engine ?
(1) Chrome o (2) Firefox

©) MS Word (4) Google

73. | In a typical web address "www.example.com", what does th? "com" indicate ?
(1) Commercial organization
(2) Company website |
(3) Community website

(4) Communication protocol

74. What is a "bookmark" in a web browser used for ?
(1) To save a page for offline reading’
(2) To mark a page for quick access
(3) To print a page

(4) To share a page on social media

75. What is phishing ?'
(1) A type of online game
(2) An attempt to_a”cﬁuire sensitive information by disguising as z;ttfustw'orthy'entity
(3) A method tb speed up internet connection '

(4) A technique to create websites

76. Which of the following is a network security device (hardWaIe or software) ?

(1) Router (2) Switch
(3) Firewall (49) Modem
JG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(D) RSCL T2 Tt nstit it PeToOs |
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77.

78.

79.

80.

81.

The full form of Wi-Fi is :
(1) Wireless Fidelity (2) Wired Fibre

(3) Wireless Filter (4) Web-based Filter

Which of the following fields specify the email recipient(S) ?
(1) To 2) Cc

(3) Bee 4) All of the above
“) 4

In which lab did Timothy Bemners Lee, the person behind HTTP work ?
(1) DRDO | ( ISRO_

(3) AT & TLab (4) CERN.

What is "Spam" in the context of email ? -
(1) Important official emails

(2) Unsolicited emails, often advertisements or scams

(3) Emails with large attachments

(4) Emails sent to yourself

Who is known as the 'Father of the Indian Constitution' ?
(1) Mahatma Gandhi

(2) Jawaharlal Nehru

(3) Sardar Vallabhbhai Patel

(4) Bhim Rao Ambedkar

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(D)
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82.

rhinoceros ?
(1) Uttarakhand

(3) UP- Haryana

-

(2) Assam

(4) Rajasthan

83. The 'Quit India Movement' was launched in which year ?

(1) 1930

(3) 1947

(1) Alexander Graham Bell

(3) Thomas Alva Edison

84. Who is said to have invented the light bulb ?

|

@) 1945

4) 1942

(2) Marie Curie

(4) Nikola Tesla

85. The Gobi Desert is located in whick continent ?

(1) Africa

(3) Asia

(2) North America

17

Which Indian state(s) is/are famous for the 'Kaziranga National Park’, home to the one-horned

(4) South America

86. The 'Davis Cup'is associated with which of these following sports ?

(1) Football

.(3) Hockey

(2) Cricket

(4) Tennis

87. The headquarters of the Reserve Bank of India is located in :

(1) New Delhi

(3) Mumbai

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(D)
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88. The National Anthem of India, "Jana Gana Mana", was originally composed in which
language ?

(1) Hindi (2) Bengali

(3) Sanskrit (4) Tamil

89. Who wrote the famous book 'Discovery of India' ?

(1) Mahatma Gandhi-
(2) Rabindranath Tagore ’
(3) Jawaharlal Nehru

(4) Sardar Patel

90. Which country is said to be the largest democracy in the world ?

(1) UsA () China (3 Russia 4) India

Directions (Q. 91-93): Choose the most appropriate sentence to complete the paragraph

91. The rise of artificial intelligence has sparked a lot of debate. Some fear that AI could

eventually replace human jobs, leading to widespread unemployment, Others argue that Al

will create-new types of jobs and enhance human productivity

(1) Alis already used in self—driving cars.

(2) This ongoing discussion highlights the complex implications of technological advancement

(3) Robots are becoming more common in factories.

(4) Many people still prefer human interaction.

: U
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62, Exercise is crucial for maintaining good physical and mental health. Regular physical
act1V1ty can reduce the risk of chronic diseases, improve mood and boost encrgy

levels ....... LIt important to find activities that you enjoy to make it a sustainable habit.
(1) Many people prefer indoor gyms.

(2) It also helps in weight management and strengthens bones.

(3) Eating healthy is also important for health.

(4) Some sports require special equipment.

93. Climate change is a pressing global 1ssue Rising global temperatures are leading to melting
glaciers, rising sea levels and more frequent extreme weather EVENtS. vevveeeees ‘Immediate and

collective action is needed to mitlgate its effects.
(1) Weather forecasting has improved significantly.:
(2) This phenomenon is Jargely Iaiﬁribl.iltéd to human activities like burning fossil fuels.

(3) Renewable energy sources are becoming cheaper.

(4) Many countries are developing new technologies.
Directions (Q. 94-95): Choose the word closest in meaning to the given word (Synonym).

94. Abundant :

(1) Scarce (2) Limited
(3) Rare (4) Plentiful
UG-4Yr -EE-June, 2025/(BCA)(SET-Y)/(D) (RO S~
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95. Vigorous:
(1)~ Weak - ! (2) Energetic

(3) Slow ‘ (4) Lethargic

Directions (Q. 96-97): Choose the word apposite in meaning to the given word (Antorym).

96. Ancient:
(1) Old /(2) Historic
(3) Past _ (C)) Modern

97. Optimist :
(1) Idealit - (2) Realist

(3) Pessimist (@), Dreamer

98. Choose the correctly spelled word.
1) Récievre‘ i {1 o (2) Receive

(3) Recieve i (4) Recive

99, Choose the correctly spelléd word.
(1) Occassion (2) Occasion

(3) Ocassion ‘ (4) Ocasione

100. Choose the correctly spelled word.

(1) Vaccum (2) Vacuum y

(3) Vaccuum (4) Vaccumm

UG-4Yr.-EE-June, 2025/(BCA)(SET-Y)/(D)
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